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Torts

Hypothetical #6


One day, Betsy is playing with her Match Box set of miniature cars beneath the apple tree in her front yard.  Her brother, George, thinking he can have some fun, climbs the tree without Betsy knowing he is there.  As he shimmies out on the limb just above Betsy's head, he pulls a large apple off the tree and drops it, intending to hit Betsy.  The apple misses, but lands about two feet from Betsy.  Betsy turns and sees the bouncing apple and is shocked to think how close she came to being hit.  George, irritated that he missed the first time, tries again.  This time, Betsy sees the apple coming, but is unable to get out of the way.  The apple strikes her, but she is uninjured.  Happy that he hit his target, George starts to shimmy back off the branch.  On the way, he knocks another apple off the tree.  Betsy sees this apple coming in time to move out of the way.  The apple, however, breaks one of the track sections of her car set.  When George reaches the ground, Betsy says to him, "if you come near me, I'll break your face!"  


Seeing a miniature red Mustang convertible on the ground, George snatches it, yelling, "Hey, this is mine!  You took this from my room!"  Betsy responds, "Give that back.  I bought it last week with my lunch money!"  She runs after George, pins him against the tree, and takes the car back, scratching George's hand in the process.  


Feeling paranoid that Betsy will try to take other pieces of his Match Box collection, George puts his pet scorpion in the shoe box where he keeps his miniature cars.  Betsy is asked by her mother to retrieve George's miniature blue Camaro, which is damaged, from his room.  Betsy's mother plans to replace the damaged Camaro and give George a new one for his birthday.  When Betsy reaches in to the box to retrieve the Camaro, she is stung by the scorpion.  She has to be taken to the emergency poison unit at the hospital.


Analyze any potential issues in the above hypothetical. [Presume that litigation is a realistic possibility in this scenario...]  

